
S1 
 

Metal-Free Reduction of Aromatic and Aliphatic Nitro 

Compounds to Amines: A HSiCl3-Mediated Reaction  

of Wide General Applicability 
 

M. Orlandi, F. Tosi, M. Bonsignore, and M. Benaglia* 

 

Supporting Information 

 

Table of Contents: 

 

• General information          S2 

• General procedure and reaction conditions optimization    S3 

• Characterizations          S4 

• References           S24 

• Preliminary theoretical studies        S25 

  



S2 
 

General information 

Dry solvents were purchased and stored under nitrogen over molecular sieves (bottles with crown caps). 

Reactions were monitored by analytical thin-layer chromatography (TLC) using silica gel 60 F254 pre-coated 

glass plates (0.25 mm thickness) and visualized using UV light. Flash chromatography was carried out on 

silica gel (230-400 mesh). 
1
H-NMR spectra were recorded on spectrometers operating at 300 MHz (Bruker 

Fourier 300 or AMX 300). 
29

Si-NMR spectra were recorded on a spectrometer operating at 99.4 MHz (AMX 

500). Proton and Silicon chemical shifts are reported in ppm (δ) with the solvent reference relative to 

tetramethylsilane (TMS) employed as the internal standard (CDCl3 δ(1H)= 7.26 ppm, δ(29Si)= 0 ppm ). 
13

C-

NMR spectra were recorded on 300 MHz spectrometers (Bruker Fourier 300 or AMX 300) operating at 75 

MHz, with complete proton decoupling. Carbon chemical shifts are reported in ppm (δ) relative to TMS with 

the respective solvent resonance as the internal standard (CDCl3, δ = 77.0 ppm). Enantiomeric excess 

determinations were performed with Chiral Stationary Phase HPLC analysis on an Agilent 1200 series HPLC 

instrument. 

  



S3 
 

General procedure and reaction conditions optimization 

In a round bottomed flask the nitro-compound (0.7 mmol) and the tertiary amine (3.5 mmol) were dissolved 

into the dry solvent (5 mL) under magnetic stirring and nitrogen atmosphere. A solution of freshly distilled 

HSiCl3 (2.5 mmol) in 2 mL of dry solvent was prepared apart, and it was added drop-wise to the first solution 

over 10 minutes at 0 °C. After stirring the reaction mixture for 18 h, 5 mL of a saturated solution of NaHCO3 

was added drop-wise and the biphasic mixture was allowed to stir for 30 min. The crude mixture was 

extracted with ethyl acetate, dried over Na2SO4, filtered and then dried under reduced pressure to afford the 

crude product. 

The starting material conversion was evaluated through 
1
H-NMR analysis of the crude products. In some 

cases, deviations from the expected products’ chemical shifts were observed due to the presence of 

residual tertiary amine hydrochlorides. However, further purification of such crude mixtures by means of 

flash column chromatography (Hex/AcOEt mixtures) or by washing with DCM/NaOH 1M restored the NMR 

signals to the expected chemical shifts. 

In the following table the optimization of the reaction conditions is reported. By varying both the solvent and 

the base the optimum reaction conditions were found to be the use of either acetonitrile or dichloromethane 

as solvent in combination with both TEA or DIPEA as bases of choice. 

Table S1. Reaction conditions optimization 

 

Entry Solvent Base Conv. (%) 

1 CH2Cl2 DIPEA >99 

2 CH3CN DIPEA >99 

3 CHCl3 DIPEA 32 

4 THF DIPEA n.r. 

5 Toluene DIPEA n.r. 

6 Hexane DIPEA n.r. 

7 CH3CN TEA 90 

8 CH3CN DMAP 17 

9 CH3CN Pyridine n.r. 

10 CH3CN DABCO n.r. 

11 CH3CN DBU 54 

12 CH3CN DMF n.r. 

 

  



S4 
 

Characterizations 

Characterizations of the products were found to agree with authentic samples (if commercially available) or 

with previously reported data. The 
1
H-NMR spectra of some representative purified products are reported 

below the relative characterization. In other cases the spectra of the crude mixtures are reported in order to 

prove the reported conversions. Some products have been isolated in slightly lower yields with respect to the 

reported quantitative conversion. This is due to the combination of two factors: loss of material during the 

extraction process due to the hydrophilicity of the obtained amines, or during the chromatographic 

purification. 

4-toluidine (1a)
1
 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 69 mg (0.64 mmol) of the pure product as a white solid (91% yield). 
1
H-

NMR (300 MHz, CDCl3) δ: 6.95 (d, J=8.2 Hz, 2H), 6.63 (d, J=8.2 Hz, 2H), 3.52 (bs, 2H, NH), 2.27 (s, 3H). 

13
C-NMR (75 MHz, CDCl3) δ: 143.9, 129.5,127.2, 115.1, 20.4. 

4-aminobenzylalcohol (1b)
1
 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 82 mg (0.67 mmol) of the pure product as a yellow solid (95% yield) 
1
H-

NMR (300 MHz, CDCl3) δ: 7.13 (d, J=8.6 Hz, 2H), 6.64 (d, J=8.6 Hz, 2H), 4.53 (s, 2H).
 13

C-NMR (75 MHz, 

CDCl3) δ: 146.0, 131.1, 128.8, 115.2, 65.2. 

 

  

1b. 
1
H-NMR spectrum of 

the crude mixture 

 



S5 
 

4-allyloxyaniline (1c)
2
 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 103 mg (0.69 mmol) of the pure product as a solid (98% yield). 
1
H-NMR 

(300 MHz, CDCl3) δ: 6.62 (d, J=6.2 Hz, 2H), 6.51 (d, J=6.2 Hz, 2H), 5.89 (ddt, J=16.3 Hz, 11.9 Hz, 2.8 Hz, 

1H), 5.16 (d, J=16.3 Hz, 1H), 4.97 (d, J=11.9 Hz, 1H), 4.21 (d, J=2.8 Hz, 2H). 
13

C-NMR (75 MHz, CDCl3) δ: 

152.0, 140.3, 134.1, 117.5, 116.7, 116.2, 69.9. 

 

  

1c. 
1
H-NMR spectrum of 

the crude mixture 

 



S6 
 

2-allyloxyaniline (1d)
3
 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 95 mg (0.64 mmol) of the pure product as a solid (91% yield). 
1
H-NMR 

(300 MHz, CDCl3) δ: 7.02 (m, 1H), 6.45 (m, 3H), 5.93 (ddt, J=17.7 Hz, 12.1 Hz, 4.8 Hz, 1H), 5.33 (d, J=17.8 

Hz, 1H), 5.20 (d, J=12.1 Hz, 1H), 4.43 (d, J=4.8 Hz, 2H). 
13

C-NMR (75 MHz, CDCl3) δ: 69.2, 112.1, 115.2, 

117.4, 118.4, 121.4, 133.6, 136.5, 146.3 

 

  

1d. 
1
H-NMR spectrum of 

the crude mixture 

 



S7 
 

4-benzyloxyaniline (1e)
4
 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 133 mg (0.67 mmol) of the pure product as a solid (95% yield). 
1
H-NMR 

(300 MHz, CDCl3) δ: 7.40 (m, 5H), 6.85 (d, J=8.7 Hz, 2H), 6.66 (s, J=8.7 Hz, 2H), 5.02 (s, 2H), 3.37 (bs, 2H). 

13
C-NMR (75 MHz, CDCl3) δ: 152.0, 140.3, 137.6, 128.4, 127.7, 127.4, 116.3, 116.2, 70.9. 

 

  

1e. 
1
H-NMR spectrum of 

the crude mixture 

 



S8 
 

2-benzyloxyaniline (1f)
5
 

Conv. 98%. Purification through flash column chromatography gave 129 mg (0.65 mmol) of the pure product 

as a solid (93% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 7.40 (m, 5H), 6.77 (m, 4H), 5.07 (s, 2H), 3.80 (bs, 2H). 

13
C-NMR (75 MHz, CDCl3) δ: 70.4, 112.1, 115.2, 118.4, 121.5, 127.5, 127.9, 128.5, 136.5, 137.2, 146.5. 

 

  

1f. 
1
H-NMR spectrum of 

the crude mixture 

 



S9 
 

N-Benzyl-3-phenylene diamine (1g)
6
 

The starting material conversion was not determinable from the NMR spectrum of the crude mixture. Hence, 

the product was isolated through flash column chromatography in 88% yield as a solid (122 mg, 0.62 mmol). 

1
H-NMR (300 MHz, CDCl3) δ: 7.30 (m, 5H), 6.99 (t, J=7.5 Hz, 1H), 6.13 (d, J=7.5 Hz, 2H), 6.04 (s, 1H), 4.32 

(s, 2H). 
13

C-NMR (75 MHz, CDCl3) δ: 149.3, 147.4, 139.5, 130.1, 128.6, 127.5, 127.2, 105.2, 104.2, 99.6, 

48.3. 

 

  

1g. 
1
H-NMR spectrum of 

the crude mixture 

 



S10 
 

4-aminobenzonitrile (1h)
7
 

Conv. 93%. Purification through flash column chromatography gave 74 mg (0.63) of the pure product a solid 

(89% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 7.43 (d, J=8.7 Hz, 2H), 6.67 (d, J=8.7 Hz, 2H), 4.16 (bs, 2H, NH). 

13
C-NMR (75 MHz, CDCl3) δ: 150.8, 133.7, 120.4, 114.3, 99.3. 

 

  

1h. 
1
H-NMR spectrum of 

the purified product 

 



S11 
 

4’-aminoacetanilide (1i)
8
 

Conv. 92%. In the following spectrum 8% integrating signals of the starting material (SM) with respect to the 

product are detectable. Purification through flash column chromatography gave 95 mg (0.63 mmol) of the 

pure product a solid (90% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 7.22 (d, J=8.5 Hz, 2H), 6.63 (d, J=8.5 Hz, 

2H), 2.13 (s, 3H). 
13

C-NMR (75 MHz, CDCl3) δ: 167.2, 144.3, 128.2, 120.7, 114.5, 23.8. 

 

  

1i. 
1
H-NMR spectrum of 

the crude mixture 

 



S12 
 

4-aminoacetophenone (1j)
9
 

Conv. 70%. In the following spectrum 30% integrating signals of the starting material (SM) with respect to the 

product are detectable. Purification through flash column chromatography gave 68 mg (0.5 mmol) of the pure 

product as a yellow solid (70% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 7.72 (d, J=8.7 Hz, 2H), 6.63 (d, J=8.7 

Hz, 2H), 4.03 (bs, 2H), 2.44 (s, 3H). 
13

C-NMR (75 MHz, CDCl3) δ: 196.3, 151.0, 130.7, 128.0, 113.7, 25.9 

 

  

1j. 
1
H-NMR spectra of the 

crude mixture 

 

PRODUCT 

SM 

TEA TEA 

PRODUCT 



S13 
 

4-aminobenzophenone (1k)
10

 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 129 mg (0.65 mmol) of the pure product a solid (93% yield). 
1
H-NMR 

(300 MHz, CDCl3) δ: 7.72 (m, 4H), 7.54 (t, J=7.4 Hz, 1H), 7.46 (t, J=7.4 Hz, 2H), 6.68 (d, J=8.4 Hz, 2H), 4.10 

(bs, 2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 195.4, 151.5, 138.9, 132.9, 131.4, 129.4, 128.1, 126.9, 113.6. 

 

  

1k. 
1
H-NMR spectra of the 

crude mixture 

 



S14 
 

3-aminobenzoic acid (1l)
1
 

Conv. 60%. Purification through flash column chromatography gave 55 mg (0.4 mmol) of the pure product as 

a white solid (57% yield). 
1
H-NMR (300 MHz, DMSO-d6) δ: 12.47 (m, 1H), 7.08-7.18 (m, 3H), 6.76(m, 1H), 

5.29 (bs, 2H).
 13

C-NMR (75 MHz, DMSO-d6) δ: 167.9, 148.8, 131.3, 128.9, 118.0, 116.6, 114.4. 

 

 

  

1l. 
1
H-NMR spectrum of 

the purified product 

 



S15 
 

4-aminobenzoic acid (1m)
10

 

Conv. 70%. Purification through flash column chromatography gave 62 mg (0.45 mmol) of the pure product 

as white solid (65% yield). 
1
H-NMR (300 MHz, DMSO-d6) δ: 11.93 (bs, 1H), 7.62 (d, J=8.6 Hz, 2H), 6.55 (d, 

J=8.6 Hz, 2H), 5.86 (bs, 2H).
 13

C-NMR (75 MHz, DMSO-d6) δ: 167.9, 153.6, 131.7, 117.4, 113.1. 

 

 

 

  

1m. 
1
H-NMR spectrum of 

the purified product 

 



S16 
 

3-amino-N,N-dibenzylbenzamide (1n) 

Conv. >98%. Purification through flash column chromatography gave 210 mg (0.66 mmol) of the pure 

product as a white solid (95% yield). By NMR analysis, two benzyl groups are detectable at rt. 
1
H-NMR (300 

MHz, CDCl3) δ: 7.40-7.10 (m, 11H), 6.86 (m, 1H), 6.81 (m, 1H), 6.71 (ddd, J=8.0, 2.5, 1.0 Hz, 1H), 4.69 (s, 

2H), 4.44 (s, 2H), 2.02 (bs, 2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 172.4, 146.8, 137.2, 136.6, 129.5, 128.7, 

128.4, 127.6, 127.2, 116.4, 116.2, 113.2, 51.5, 46.7. HRMS (ESI) m/z Calc for C21H21N2O
+
 [M+H]

+
 

317.16484, found 317.16454. 

 

 

  

1n. 
1
H-NMR spectrum of 

the crude product 

 



S17 
 

4-chloroaniline (1o)
10

 

Conv. >98%. Purification through flash column chromatography gave 87 mg (0.68 mmol) of the pure product 

as a solid (97% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 7.12 (d, J=8.9 Hz, 2H), 6.63 (d, J=8.9 Hz, 2H), 3.67 (bs, 

2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 144.8, 128.9, 123.0, 116.0. 

 

 

  

1o. 
1
H-NMR spectrum of 

the purified product 

 



S18 
 

4-bromoaniline (1p)
11

 

Conv. >98%. The crude product (117 mg, 0.68 mmol) was found to be pure (97% yield). 
1
H-NMR (300 MHz, 

CDCl3) δ: 7.25 (d, J=8.6 Hz, 2H), 6.57 (d, J=8.6 Hz, 2H), 3.68 (bs, 2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 

110.4, 116.9, 132.2, 145.6. 

 

  



S19 
 

4-iodoaniline (1q)
12

 

Conv. >98%. The crude product (150 mg, 0.68 mmol) was found to be pure (98% yield). 
1
H-NMR (300 MHz, 

CDCl3) δ: 7.44 (d, J=8.6 Hz, 2H), 6.48 (d, J=8.6 Hz, 2H), 3.69 (bs, 2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 

79.6, 117.5, 138.1, 146.3. 

 

 

  



S20 
 

2-aminopyridine (1r)
8
 

Conv. 96%. Purification through flash column chromatography gave 61 mg (0.65 mmol) of the pure product 

as a white solid (94% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 8.05 (m, 1H), 7.42 (m, 1H), 6.62 (m, 1H), 6.49 (d, 

1H), 4,10 (bs, 2H). 
13

C-NMR (75 MHz, CDCl3) δ: 158.3, 148.1, 137.7, 114.0, 108,6. 

 

  

1r. 
1
H-NMR spectra of the 

crude mixture 

 



S21 
 

2-chloro-3-aminopyridine (1s)
13

 

Conv. >98%. In the following spectrum no signals of the starting material are detectable. Purification through 

flash column chromatography gave 81 mg (0.63 mmol) of the pure product as a white solid (90% yield). 
1
H-

NMR (300 MHz, CDCl3) δ: 7.80 (m, 1H), 7.05 (m, 2H), 4.20 (bs, 2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 

141.5, 135.1, 134.6, 123.7, 121.6. 

 

  

1s. 
1
H-NMR spectra of the 

crude mixture 

 



S22 
 

2-phenethylamine (1t) 

Conv. >98%. Purification through flash column chromatography gave 83 mg (0.68 mmol) of the pure product 

as a pale yellow liquid (98% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 7.23 (m, 5H), 2.94 (t, J=6.2 Hz, 2H), 2.72 

(t, J=6.2 Hz, 2H), 1.25 (bs, 2H, NH). 
13

C-NMR (75 MHz, CDCl3) δ: 40.0, 43.5, 126.0, 128.3, 128.7, 139.7. 

 

 

 

 

  

1t. 
1
H-NMR spectrum of 

the purified product 

 



S23 
 

2-aminopropanol (1u) 

Conv. >98%. Purification through flash column chromatography gave 47 mg (0.62 mmol) of the pure product 

as a colourless liquid (90% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 2.82-3.63 (m, 3H), 2.53 (bs, 3H), 1.03 (d, 

J=6.2 Hz, 3H). 
13

C-NMR (75 MHz, CDCl3) δ: 68.2, 48.4, 19.9. 

Hexylamine (1v) 

Conv. >98%. Purification through flash column chromatography gave 66 mg (0.65 mmol) of the pure product 

as a colourless liquid (93% yield). 
1
H-NMR (300 MHz, CDCl3) δ: 2.69 (t, J=6.5 Hz, 2H), 1.50-1.05 (m, 10H), 

0.89 (t, J=5.6 Hz, 3H). 
13

C-NMR (75 MHz, CDCl3) δ: 42.3, 34.1, 31.7, 26.3, 22.8, 14.0. 

 

 

  

1v. 
1
H-NMR spectrum of 

the purified product 

 



S24 
 

 

References 

                                                      
(1) Rao, H.; Fu, H.; Jiang, Y.; Zhao, Y. Angew. Chem. Int. Ed. 2009, 48, 1114. 

(2) Alcaide, B.; Almendros, P.; Alonso, J. M. Chem. Eur. J. 2003, 9, 5793. 

(3) Fletcher, R. J.; Lampard, C.; Murphy, J. A.; Lewis, N. J. Chem. Soc. Perkin Trans. 1 1995, 6, 623. 

(4) Chandrasekhar, S.; Prakash, S. J.; Rao, C. L. J. Org. Chem. 2006, 71, 2196. 

(5) Maddani, M. R.; Moorthy, S. K.; Prabhu, K. R. Tetrahedron 2010, 66, 329. 

(6) Desai, D. G.; Swami, S. S.; Dabhade, S. K.; Ghagare, M. G. Synth. Commun. 2001, 31, 1249. 

(7) Maddani, M. R.; Moorthy, S. K.; Prabhu, K. R. Tetrahedron 2010, 66, 329. 

(8) Wang, D.; Cai, Q.; Ding, K. Adv. Synth. Catal. 2009, 351, 1722. 

(9) Yasuhara, A.; Kasano, A.; Sakamoto, T. J. Org. Chem. 1999, 64, 2301. 

(10) Kelly, S. M.; Lipshutz, B. H. Org. Lett. 2014, 16, 98. 

(11) Kavala, V.; Naik, S.; Patel, B. K. J. Org. Chem. 2005, 70, 4267. 

(12) Fortin, J. S.; Lacroix, J.; Desjardins, M.; Patenaude, A.; Petitclerc, E.; C.- Gaudreault, R. Bioorg. Med. 

Chem. 2007, 15, 4456. 

(13) Kasparian, A. J.; Savarin, C.; Allgeier, A. M.; Walker, S. D. J. Org. Chem. 2011, 76, 9841. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



S25 
 

                                                                                                                                                                                
 

 

Preliminary Theoretical Studies 
 

 

In order to provide any evidence of the preference of nitro groups for one of the two silicon 

species DFT computational studies have been performed. To limit the computational efforts in 

these preliminary studies, we focused on the first step of the reduction (from nitro to nitroso). 

Indeed, since the only observed species in solution were the starting material, if any, and the 

silylated amine, we hypothesized the reduction of the nitro to the nitroso group to be the reaction 

rate determining step. Moreover, by monitoring the reaction through NMR spectroscopy, neither 4-

nitrosotoluene nor hydroxylamine were detected, and the reduction of 4-nitrosotoluene was 

completed in short times. 

Calculations have been performed using three different DFT functionals: B3LYP,1 M06-2X2 and 

wB97X3 with Gaussian 09 package.4 The used basis set is 6-311++G(3df,3pd) and the PCM 

solvation model5 for chloroform was used. These computational set up have been used both in the 

optimization and frequencies analysis steps. To minimize computational efforts, nitromethane was 

chosen as the substrate and trimethylamine as a model tertiary amine. 

According to previous reports,6 we calculated SiCl2 to exist in the singlet state, rather than in the 

triplet one.  

We investigated three different possible mechanisms: i) the addition of SiCl3
-, ii) the addition of 

naked SiCl2 and iii) the addition of a trimethylamine stabilized SiCl2 species. It is important to point 

out that further mechanisms could be hypothesized, but we present here the simplest ones as 

basic hypothesis. 

As reported in Figure 1, the addition of SiCl3
- to nitromethane occurs with a higher energy barrier 

(30.6-33.5 kcal/mol). Interestingly, the most favorite pathway for M06-2X and wB97XD seems to be 

the addition of a stabilized dichlorosilylene; the stabilization of the SiCl2 species by means of the 

trimethylamine provide an advantage in terms of energy of several kcal/mol, depending on the 

functional (compare activation energies for naked and stabilized silylene: 22.5-26.2 kcal/mol vs 

15.8-23.0 kcal/mol). 

 

 

 

 

 

 



S26 
 

                                                                                                                                                                                

Figure 1. Energy barriers relative to: TS1 for the addition of SiCl3
- to nitromethane; TS2 for the 

addition of naked SiCl2 to nitromethane and TS3 for the addition of a stabilized SiCl2 to 

nitromethane. The activation Gibbs free energies are calculated with respect to the separated 

reagents. The energies are reported in kcal/mol. 

 

Functional
a
 
ΔG

‡
 

(TS1) 

ΔG
‡
 

(TS2) 

ΔG
‡
 

(TS3) 

B3LYP 33.5 27.0 34.8 

M06-2X 30.6 22.5 15.8 

wB97XD 32.7 26.2 23.0 

[a] All the calculations are performed with the 6-311++G(3df,3pd)[PCM-chloroform] level of 

theory. 

 

The presented calculations suggest that the addition of a stabilized dichlorosilylene seems to be 

the most likely mechanism for the presented reaction. However, further experimental and 

computational studies for the determination of a more detailed reaction mechanism are still 

ongoing in our laboratories. 

References 

1) Becke, A. D. J. Chem. Phys. 1993, 98, 5648. (b) Lee, C.; Yang, W.; Parr, R. G. Phys. Rev. B 1988, 37, 785. (c) 
Stephens, P. J.; Devlin, F. J.; Chabalowski, C. F.; Frisch, M. J. J. Phys. Chem. 1994, 98, 11623. 

2) Zhao, Y.; Truhlar, D. G. Theor. Chem. Acc. 2008, 120, 215. 
3) Chai, J.-D.; Head-Gordon, M. Phys. Chem. Chem. Phys. 2008, 10, 6615. 
4) Gaussian 09, Revision D.01, Frisch, M. J.; Trucks, G. W.; Schlegel, H. B.; Scuseria, G. E.; Robb, M. A.; 

Cheeseman, J. R.; Scalmani, G.; Barone, V.; Mennucci, B.; Petersson, G. A.; Nakatsuji, H.; Caricato, M.; Li, 
X.; Hratchian, H. P.; Izmaylov, A. F.; Bloino, J.; Zheng, G.; Sonnenberg, J. L.; Hada, M.; Ehara, M.; Toyota, 
K.; Fukuda, R.; Hasegawa, J.; Ishida, M.; Nakajima, T.; Honda, Y.; Kitao, O.; Nakai, H.; Vreven, T.; 
Montgomery, J. A., Jr.; Peralta, J. E.; Ogliaro, F.; Bearpark, M.; Heyd, J. J.; Brothers, E.; Kudin, K. N.; 
Staroverov, V. N.; Kobayashi, R.; Normand, J.; Raghavachari, K.; Rendell, A.; Burant, J. C.; Iyengar, S. S.; 
Tomasi, J.; Cossi, M.; Rega, N.; Millam, J. M.; Klene, M.; Knox, J. E.; Cross, J. B.; Bakken, V.; Adamo, C.; 
Jaramillo, J.; Gomperts, R.; Stratmann, R. E.; Yazyev, O.; Austin, A. J.; Cammi, R.; Pomelli, C.; Ochterski, J. 
W.; Martin, R. L.; Morokuma, K.; Zakrzewski, V. G.; Voth, G. A.; Salvador, P.; Dannenberg, J. J.; Dapprich, 
S.; Daniels, A. D.; Farkas, Ö.; Foresman, J. B.; Ortiz, J. V.; Cioslowski, J.; Fox, D. J. Gaussian, Inc., 
Wallingford CT, 2009. 

5) Tomasi, J.; Mennucci, B.; Cammi, R. Chem. Rev. 2005, 105, 2999. 
6) Margrave, J. L., Wilson, P. W. Acc. Chem. Res. 1971, 4, 145. 

 


